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Constable GD in Central Armed Police Forces CAPFs SSF Rifleman GD in Assam

Rifles Examination 2024

[Roll Number

Candidate Name

\Venue Name

Exam Date 06/03/2024

Exam Time 9:00 AM - 10:00 AM

Subject Constable GD Examination 2024

Section : Part-A-General Intelligence and Reasoning

'DECADE' be coded as?

Ans X 1. GFCCED

Q.1 Inacertain code language, if ABROAD is coded as RBAQCF', COUPLE s coded as UOCRNG, then what will

« 2. CEDCFG
X 3. GFCDEC
& 4 DECGFC
Question ID : 264330190413
Option 1 ID : 264330745236
Option 2 ID : 264330745237
Option 3 ID : 264330745234
Option 4 ID : 264330745235
Status : Answered
Chosen Option : 2
Q.2 Eightgitls A. B, C, D, E.F. Gand H are sitting around a circular table facing rowards the centre (not necessarily in the
same order). A is second to the left of D. D is third to the left of E. C is third to the right of G. G is not the immediate
neighbour of E. H is third to the right of B. B is second to the right of G. Who is sifting on the immediate left of E?
Ans &1 C
X2 A
X3 B
X4 H
Question ID : 264330187368
Option 11D : 264330733401
Option 2 ID : 264330733402
Option 3 ID : 264330733400
Option 4 ID : 264330733403
Status : Answered
Chosen Option : 4
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Q.3

Ans

In the following question below are given some statements followed by some conclusions basad on those statements.
Taking the given statements to be true even if they seem to be at variance from commonly known facts. Read all the
conclusions and then decide which of the given conclusion (s) logically follows the given statements.

Statements:
LAllCareV
IL. No C is B.
Conclusions:
LAllVareC.
T AllBare V.

X 1. Both conclusions I and II follows
X 2. Only conclusion II follows

« 3. Neither conclusion follows

X 4. Only conclusion I follows

Option 2 ID

Option 4 ID

Question ID :
Option 11D :

264330187409
264330733566

: 264330733565
Option 31D :

264330733567

1264330733564
Status :
Chosen Option :

Not Answered
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Q4 A paper is folded and cut as shown below. How will it appear when unfolded?
N ~
/7N 2708
i j ’
N
Ans
x 1. ‘
a
x» {000
a
O
O
o 3. o
O
X 4. ‘
Question ID : 264330192147
Option 1 1D : 264330751942
Option 2 ID : 264330751945
Option 3 ID : 264330751943
Option 4 ID : 264330751944
Status : Answered
Chosen Option : 3
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Q.5

Ans

Arrange the given words in alphabetical order:

1. EXOTIC
. EXEMPLIFY
3. EXERCISE

4. EXHAUST

5. EXCHANGE
15,2341
X2 524, 1,3
X3 53,241
X4 54,2,3,1

]

Chosen Option :

Question ID : 264330192150
Option 11D : 264330751955
Option 2 ID : 264330751954
Option 3 ID : 264330751956
Option 4 ID : 264330751957
Status : Answered
Chosen Option : 4
Q.6 Which answer figure will complete the pattern in the question figure? (rotation is not allowed)
?|e
Ans
v < A
1%
yd

X 3. O @

X 4. 0 ®
Question ID : 264330190284
Option 11D : 264330744718
Option 2 ID : 264330744721
Option 3 ID : 264330744719
Option 4 ID : 264330744720

Status : Answered

1
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Q.7 Select the figure that will replace the question mark (?) in the following figure series.

Ans

3

Question ID : 264330192203
Option 11D : 264330752168
Option 2 ID : 264330752169
Option 3 ID : 264330752167
Option 4 ID : 264330752166
Status : Answered
Chosen Option : 3

Q8 In the following question, select the missing number from the given series.

1. 14,-3,16,-7.?
Ans 71 22

X2 20

X 33D

X4 27

Question ID : 264330191340
Option 11D : 264330748715
Option 2 ID : 264330748714
Option 3 ID : 264330748717
Option 4 ID : 264330748716
Status : Answered
Chosen Option : 1
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Q.9 Seven boys Lalit. Pawan, Nitin, Rohan. Tarun, Varn and Aman are sitting around a circular table facing towards the
centre (not necessarily in the same order). Pawan is second to the left of Aman, Varun is third to the right of Pawan.
Witin is not the immediate neighbour of Pawan or Varun. Lalit is third to the right of Tarun. Who is sitting second to the
left of Pawan?

Ans X 1. Lalit

X 2. Varun
« 3. Nitin
X< 4 Aman
Question ID : 264330190455
Option 1 ID : 264330745402
Option 2 ID : 264330745403
Option 3 ID : 264330745405
Option 4 ID : 264330745404
Status : Not Answered
Chosen Option : --
Q.10 1p the following question. select the related letter pair from the given alternatives.
UYP:TXO::?
Ans X 1. UXT: BFU
X2 COX:.ZUZ
« 3. F5H : ERG
X4 ACD:AEX
Question ID : 264330187063
Option 1 ID : 264330732182
Option 2 ID : 264330732183
Option 3 ID : 264330732181
Option 4 ID : 264330732180
Status : Not Answered
Chosen Option : --
Q1 n the following question, select the missing number from the given series.
64, 32, 16, 8,4, 7, 1
Ans 1, 4
X2 6
X3 3
a7
Question ID : 264330187130
Option 1 ID : 264330732449
Option 2 ID : 264330732450
Option 3 ID : 264330732448
Option 4 ID : 264330732451
Status : Answered
Chosen Option : 4
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NMR, 55Z, XYH. CER. ?

Q.12 A series is given with one term missing. Select the correct alternative from the given ones that will complere the series.

Chosen Option :

Ans 1. RQM
X 2. HXE
« 3. HEKX
X4 YMR
Question ID : 264330187059
Option 1 ID : 264330732164
Option 2 ID : 264330732166
Option 3 ID : 264330732165
Option 4 ID : 264330732167
Status : Answered
Chosen Option : 3
Q.13  Select the option that is related to the third word in the same way as the second word is related to the first word.
Firefighter : Hose :: Gardener : 7
Ans 1. Shovel
X 2. Net
X 3. Towel
X 4. Pen
Question ID : 264330191591
Option 1 ID : 264330749719
Option 2 ID : 264330749721
Option 3 ID : 264330749720
Option 4 ID : 264330749718
Status : Not Answered
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Q.14 From the given option figures, select the one 1o which the question figure is hidden’smbedded. (rotation 1s NOT
allowed)

I77

Ans

B
g

X 3.

Option 1 ID

Option 3 ID

Question ID :

264330187076

1 264330732235
Option 21D :

264330732234

1 264330732233
Option 4 ID :
Status :

Chosen Option :

264330732232
Answered
4
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Ans

3

M| ST BN DS

Q.15 select the figure that will replace the question mark (?) in the following figure series.

Question ID :
Option 11D :

Option 2 ID

Option 4 ID

264330190423
264330745276

1264330745274
Option 31D :

264330745277

: 264330745275
Status :
Chosen Option :

Answered
3
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Q16 'E x F' means 'E is the wife of F'

'E + F' means 'E is the brother of F'

'E + F' means 'E is the sister of F'

'E - F' means 'E is the son of F'

How is S related to I in the expression'S +H = I+ TJ'?
Ans X 1. Father

+ 2. Wife's brother

X 3. Brother

X 4. Sister's husband

Question ID : 264330192075
Option 1 ID : 264330751655
Option 2 ID : 264330751657
Option 3 ID : 264330751654
Option 4 ID : 264330751656
Status : Not Answered

Chosen Option : --

Q.17 Ina certain code language. ‘CASKM’ is coded as ‘69271", *CHARM is coded as “13576", *CIAOS" is coded as
*74682°. What can be the code for ‘H’ in that code language?

Ans X' 1. ]
X2 6
3 3
X4 7

Question ID : 264330187145
Option 1 1D : 264330732509
Option 2 ID : 264330732511
Option 3 ID : 264330732508
Option 4 ID : 264330732510
Status : Answered
Chosen Option : 3

Q.18 Which two numbers should be interchanged to make the given equation correct?
10%x2+8+5-4=14

Ans X' 1. 2 and 4
« 2. 8 and 10
A3 10and 14
K4 2and s

Question ID : 264330192241
Option 1 ID : 264330752319
Option 2 ID : 264330752318
Option 3 ID : 264330752321
Option 4 ID : 264330752320
Status : Answered
Chosen Option : 2
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Q19 If10*14@2#8=8and 19* 16 @4#5=15,then30* 19@ 11 #12="2

Chosen Option :

Ans 1. 83
<2 -30
X3 —10
x40
Question ID : 264330190221
Option 1 ID : 264330744469
Option 2 ID : 264330744467
Option 3 ID : 264330744466
Option 4 ID : 264330744468
Status : Not Answered
Chosen Option : --
Q.20 Which of the following groups of letters when sequentially placed from left to right will complete the given series?
cedde ffagee deeffggecdd off ¢
Ans X 1. efeg
X 2. cdeg
+ 3. edeg
X 4. efgh
Question ID : 264330190268
Option 1 ID : 264330744655
Option 2 ID : 264330744656
Option 3 ID : 264330744657
Option 4 ID : 264330744654
Status : Answered
Chosen Option : 2
Section : Part-B-General Knowledge and General awareness
Q.1  According to policy. instead of importing vehicles made in a foreign country, industries would be encouraged to
produce them in India itself.
Ans 1. import substitution
X 2. puralisation
X 3. Indian substitution
X 4. export substitution
Question ID : 264330191446
Option 1 ID : 264330749138
Option 2 ID : 264330749141
Option 3 ID : 264330749140
Option 4 ID : 264330749139
Status : Answered

1
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Q2 Executive power of an Indian State is vested in
Ans X 1. Council of Ministers
« 2. Governor
X 3. Chief Minister
X 4. Prime Minister
Question ID : 264330191741
Option 1 ID : 264330750320
Option 2 ID : 264330750319
Option 3 ID : 264330750318
Option 4 ID : 264330750321
Status : Answered
Chosen Option : 1
Q3 Who among the following was well — known for their kathakali dancing?
Ans 1. Madavoor Vasudevan Nair
X 2. Bino Devi
X 3. Pt. Gopal Prasad
X 4. C.V. Chandrasekhar
Question ID : 264330188823
Option 1 1D : 264330739097
Option 2 ID : 264330739094
Option 3 ID : 264330739096
Option 4 ID : 264330739095
Status : Answered
Chosen Option : 1
Q.4 Which government of India program provides 100 days of wage employment to households in rural areas to ensure
livelihood security?
Ans X 1. Prime Minister Rozgar Yozana
o 2.
Mahatma Gandhi National Rural Employment Guarantee scheme
X 3. Swarnajayvanti Gram Swarozgar Yojana
X 4. Pradhan Mantri Gramodaya Yozana
Question ID : 264330191295
Option 1 1D : 264330748537
Option 2 ID : 264330748536
Option 3 ID : 264330748534
Option 4 ID : 264330748535
Status : Answered
Chosen Option : 1
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Q5 At absolute zero (0 K or -273.15°C), the particles of matter:

X 1. badminton player
X 2. tennis player

« 3. squash player

X 4. table tennis player

Ans 1. Stop moving
X 2. Undergo fusion
X 3. Move at the speed of light
X 4. Vibrate in fixed positions
Question ID : 264330191493
Option 1 ID : 264330749329
Option 2 ID : 264330749326
Option 3 ID : 264330749327
Option 4 ID : 264330749328
Status : Answered
Chosen Option : 1
Q6 Dipika Pallikal is a
Ans

Question ID :
Option 11D :
Option 21D :
Option 31D :

Option 4 ID

Chosen Option

264330192003
264330751367
264330751369
264330751368

1 264330751366
Status :
12

Answered

Ans

X 1. Kerala
X 2. Sikkim
X 3. Manipur

« 4 Mizoram

Q.7  According to the 2011 census of India. which of the following states has a total literacy rate of 91.3 percent?

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330188678
264330738515
264330738517
264330738516
264330738514
Answered

1
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Q8  WWho is known as the Prince of Patriots?
Ans X 1. Rajendra Prasad
X 2. Vallabhbhai Patel
X 3. Bhagat Singh
+ 4. Subhash Chandra Bose
Question ID : 264330191237
Option 1 ID : 264330748304
Option 2 ID : 264330748303
Option 3 ID : 264330748305
Option 4 ID : 264330748302
Status : Answered
Chosen Option : 3
Q9 How many players are there on a standard Kho Kho team during a match?
Ans X' 1. 10
X211
X3 15
W4 09
Question ID : 264330191504
Option 1 ID : 264330749372
Option 2 ID : 264330749371
Option 3 ID : 264330749373
Option 4 ID : 264330749370
Status : Answered
Chosen Option : 2
Q.10 Dr. Manmohan Singh was recently honored with a Lifetime Achisvement Honour by which crganization for his
contributions to economic and political life?
Ans X 1. UK’s Department for International Trade
X 2. Oxford University
X 3. United Nations
+ 4 India-UK Achievers Honours
Question ID : 264330190848
Option 11D : 264330746749
Option 2 ID : 264330746748
Option 3 ID : 264330746746
Option 4 ID : 264330746747
Status : Answered
Chosen Option : 2
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Q1 Which Mauryan Indian emperor is renowned for his edicts and pillars?
Ans X 1. Kanishka
" 2. Ashoka
X 3. Samudragupta
X 4. Harsha
Question ID : 264330190935
Option 1 ID : 264330747094
Option 2 ID : 264330747097
Option 3 ID : 264330747095
Option 4 ID : 264330747096
Status : Answered
Chosen Option : 3
Q.12 "Strive to minimize the inequalities in income" is mentionad under of Constimition of India.
Ans 1. Directive Principles
A 2. Not mentioned in Constitution
X 3. Fundamental Rights
X 4. Fundamental Duties
Question ID : 264330190879
Option 1 ID : 264330746872
Option 2 ID : 264330746873
Option 3 ID : 264330746870
Option 4 ID : 264330746871
Status : Answered
Chosen Option : 3
Q13 <Amongmong Festival’ is associated with which of the following states/UTs?
Ans X 1. Uttrakhand
X 2. Himachal Pradesh
+ 3. Wagaland
X 4. Punjab
Question ID : 264330188816
Option 1 ID : 264330739067
Option 2 ID : 264330739066
Option 3 ID : 264330739069
Option 4 ID : 264330739068
Status : Answered
Chosen Option : 3
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Q.14

Addition to the stock of capital of a firm is known as

Ans X 1. accumulation
X 2. capital gain
+ 3. investment
X 4. capital loss
Question ID : 264330188869
Option 1 1D : 264330739281
Option 2 ID : 264330739279
Option 3 ID : 264330739278
Option 4 ID : 264330739280
Status : Answered
Chosen Option : 3
Q15 Ayushmann Khurrana's association with UNICEF primarily aims to:
Ans 1. Support child rights and well-being
X 2. Advocating for gender equality
X 3. Advocate for wildlife conservation
X 4. Promoting women's right and well being
Question ID : 264330188914
Option 1 1D : 264330739458
Option 2 ID : 264330739461
Option 3 ID : 264330739459
Option 4 ID : 264330739460
Status : Answered
Chosen Option : 3
Q.16 The objective of the "Gadgil Formula," introduced during the Fourth Five Year Plan, was to allocate plan assisiance to
states based on their:
Ans X 1. Area and literacy rate
X 2. Industrial output and trade balance
+ 3. Population and per capita income
X 4. Agricultural production and exports
Question ID : 264330191507
Option 1 ID : 264330749385
Option 2 ID : 264330749383
Option 3 ID : 264330749382
Option 4 ID : 264330749384
Status : Answered
Chosen Option : 4
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Q.17  As per National Geospatial Policy (NGP) 2022, online courses in geospatial science & technology areas are to be made
available through iGoT platform.
Ans X 1. Saksharta
X 2. Vigyaan
X 3. Siksha
« 4. Karmayogi
Question ID : 264330190767
Option 1 ID : 264330746424
Option 2 ID : 264330746425
Option 3 ID : 264330746423
Option 4 ID : 264330746422
Status : Answered
Chosen Option : 4
Q18 WWhich Indian personality is known as the Mozart of Madras?
Ans 1. AR Rahman
X 2. Kavita Krishnamurthy
X 3. K. J. Yesudas
X 4. Lata Mangeshkar
Question ID : 264330191958
Option 11D : 264330751187
Option 2 ID : 264330751189
Option 3 ID : 264330751188
Option 4 ID : 264330751186
Status : Answered
Chosen Option : 4
Q19 Which of the following folk dance is related to state of Maharashtra?
Ans 1 Lezim
X 2. Munari
X 3. Painka
X 4. Chhau
Question ID : 264330191891
Option 1 ID : 264330750921
Option 2 ID : 264330750919
Option 3 ID : 264330750918
Option 4 ID : 264330750920
Status : Answered
Chosen Option : 4
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Q20 wwWhich team won the Ranji Trophy 2022/23?
Ans X 1. Mumbai
X 2. Bengal

« 3. Saurashtra
& 4. Himachal Pradesh

Question ID : 264330188786
Option 1 ID : 264330738948
Option 2 ID : 264330738947
Option 3 ID : 264330738946
Option 4 ID : 264330738949
Status : Answered
Chosen Option : 4
Section : Part-C-Elementary Mathematics
Q.1  Adealersells two laptops at the rate of Rs. 10000 per laptop. On one he earns a profit of 40 percent and on the other he
loses 40 percent. What i3 his profit/loss percentage in the whole transaction?
Ans 1. 16 percent loss
X 2. 20 percent profit
X 3. 20 percent loss
X 4. 16 percent profit
Question ID : 264330187708
Option 1 ID : 264330734763
Option 2 ID : 264330734760
Option 3 ID : 264330734761
Option 4 ID : 264330734762
Status : Answered
Chosen Option : 1
Q2 what is the value of 8400 + 21 + 42 % 5 - 4107
Ans 5 1. 440
« 2. 200
X 3100
X 4. 300
Question ID : 264330187939
Option 11D : 264330735684
Option 2 ID : 264330735687
Option 3 ID : 264330735686
Option 4 ID : 264330735685
Status : Answered
Chosen Option : 2
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Ans

X 1. Rs. 750 and Rs. 400
+ 2. Rs. 600 and Rs. 800
X 3. Rs. 700 and Rs. 800
X 4 Rs. 800 and Rs. 500

Q.3  The ratio of income of Ramesh and Suresh are 3: 4. The ratio of expenditure of Ramesh and Suresh is 2: 3 and each
saves Rs 200. Find the income of Ramesh and Suresh.

Chosen Option :

Question ID : 264330192301
Option 1 ID : 264330752560
Option 2 ID : 264330752558
Option 3 ID : 264330752559
Option 4 ID : 264330752561
Status : Answered
Chosen Option : 2
Q.4 X andY ogether can complere a work in 10 days. Y and Z together can complete the same work in 12.5 days. Z and X
together can complete the same work in 50 days, In how many days can all the three complete the same work while
working together?
Ans X 1. 20 days
X 2. 12.5 days
X 3. 15 days
« 4. 10 days
Question ID : 264330187996
Option 1 ID : 264330735912
Option 2 ID : 264330735915
Option 3 ID : 264330735913
Option 4 ID : 264330735914
Status : Answered
Chosen Option : 4
Q.5 Rs. 9000 is lent at the annual rate of 20 percent for 2 years. Which of the following is statement(s) is/are correct?
I Simple interest to be received on this sum is Bs. 3500,
1I. Compound Interest (compounding annually) to be received on this sum is Rs. 3960,
Ans X 1. OnlyI
A 2 BothIandII
3 Only II
A 4. Neither I nor II
Question ID : 264330190362
Option 1 ID : 264330745030
Option 2 ID : 264330745032
Option 3 ID : 264330745031
Option 4 ID : 264330745033
Status : Not Answered
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Ans

percentage?

X 1. 20 percent
X 2. 10 percent
X 3. 25 percent

« 4. 16.66 percent

Q.6 A person bought some pens at the rate of 14 for a rupee and sold them at the rate of 12 for a rupes. What is the profit

Chosen Option :

Question ID : 264330190375
Option 1 ID : 264330745083
Option 2 ID : 264330745085
Option 3 ID : 264330745084
Option 4 ID : 264330745082
Status : Answered
Chosen Option : 4
Q.7  The respective ratio of income and expenditure of Raman is 9 : 7. If his income is increased by 20 percent and
expenditure is decreased by 70 percent, then what will be the new respective ratio of his income and expenditure?
Ans X 1.35:7
X2 7:36
3 36:7
X4 7:35
Question ID : 264330187966
Option 1 ID : 264330735795
Option 2 ID : 264330735793
Option 3 ID : 264330735794
Option 4 ID : 264330735792
Status : Answered
Chosen Option : 4
Q.8 The average weight of a group of 24 persons is 34 kg. The average weight of another group of 48 persons is K kg. If the
average weight of all the 72 persons is 36 kg, then what is the value of K?
Ans w1 67kg
X2 T70kg
X3 64kg
X4 68 kg
Question ID : 264330187644
Option 1 ID : 264330734505
Option 2 ID : 264330734507
Option 3 ID : 264330734504
Option 4 ID : 264330734506
Status : Not Answered
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Q.9 Marks of two candidates T and K are the in ratio of 15 : 17. If the marks of T are 300. then what will be the marks of K?
Ans 1. 340
<2 320
A 3300
<4 310
Question ID : 264330187571
Option 1 ID : 264330734214
Option 2 ID : 264330734213
Option 3 ID : 264330734212
Option 4 ID : 264330734215
Status : Not Answered
Chosen Option : --
Q10 what is the curved surface area of a hemisphere whose radius is 21 cm?
Ans
12772 em?
723296 cm?
X3 2542 cm?
X 4 2084 cm?
Question ID : 264330187818
Option 1 ID : 264330735200
Option 2 ID : 264330735203
Option 3 ID : 264330735202
Option 4 ID : 264330735201
Status : Answered
Chosen Option : 2
QM Ifm-n=11. and m2+ n? = 141. Find the value of mn.
Ans X' 1 27
X2 15
« 3. 10
X 4. 23
Question ID : 264330192469
Option 1 ID : 264330753233
Option 2 ID : 264330753231
Option 3 ID : 264330753230
Option 4 ID : 264330753232
Status : Answered
Chosen Option : 4
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Q.12 The average age of a family of four is 25 years. If the ages of three family members are 20, 22, and 28, what is the age
of the fourth family member?

Ans 1. 30 years
X 2. 33 years
& 3. 27 years
X 4. 25 years
Question ID : 264330190731
Option 1 ID : 264330746357
Option 2 ID : 264330746356
Option 3 ID : 264330746355
Option 4 ID : 264330746354
Status : Answered
Chosen Option : 4
Q.13 What is the discount percentage offered on a book having marked price Rs. 3950 being sold at Rs. 31607
Ans X 1. 15 percent
« 2. 20 percent
X 3. 30 percent
X 4. 25 percent
Question ID : 264330187609
Option 1 ID : 264330734364
Option 2 ID : 264330734365
Option 3 ID : 264330734366
Option 4 ID : 264330734367
Status : Not Answered
Chosen Option : --
Q14 What is the smallest perfect square which is divisible by both 4 and 3?
Ans « 1. 36
X216
X3 49
X4 25
Question ID : 264330188574
Option 1 ID : 264330738099
Option 2 ID : 264330738100
Option 3 1D : 264330738101
Option 4 ID : 264330738098
Status : Not Answered

Chosen Option :
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Ans X' 1. 3004
X2 10%
3. 20%
X 4 15%

Q.15 A shopkeeper allows a 25% discount on the marked price of an article and he suffers a loss of 10%. If the article is sold
at the marked price, then find the profit percentage.

Question ID :
Option 11D :
Option 21D :
Option 3 ID :
Option 4 ID :
Status :

Chosen Option :

264330191679
264330750073
264330750072
264330750070
264330750071
Not Answered

Ans 1 320 km
X 2. 280 km
A 3. 360 km
X 4 450 km

Q.16 Two trains start running from stations C and D at same time. Both trains are running towards each other at speeds of 32
knvhr and 96 km/'hr respeetively. When they meet each other. then the second train had travelled 160 km more than the
first. What is the distance between C and D?

Question ID :
1264330734628
Option 2 ID :
1 264330734629
Option 4 ID :
: Not Answered
Chosen Option :

Option 1 ID

Option 3 ID

Status

264330187675

264330734630

264330734631

Ans X 1. 600
X 2. 500
« 3. 700
X 4. 800

Q.17 If 55 is subtracted from 65 percent of a mumber. then the result is 400. What is the value of the number?

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330188618
264330738275
264330738274
264330738276
264330738277
Not Answered
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Q.18 A sum of Rs. 2000 becomes Rs. 5920 when invested in a scheme of simple interest, If the annual rate of interest and the
number of years for which the sum was invested are same, then what is the annnal rate of interest?

Ans 1. 14 percent
X 2. 15 percent
X 3. 17 percent
X 4. 16 percent

Question ID : 264330191642
Option 1 ID : 264330749924
Option 2 ID : 264330749925
Option 3 ID : 264330749922
Option 4 ID : 264330749923
Status : Not Answered

Chosen Option : --

o What is the value of E>“E0f§+ﬂ 2
23 7 02 69
Ans X' 1 62
&2 12
X3 52
X 4 32

Question ID : 264330187960
Option 1 ID : 264330735770
Option 2 ID : 264330735768
Option 3 ID : 264330735771
Option 4 ID : 264330735769
Status : Not Answered

Chosen Option : --

Q.20 Pand Q together can complete a work in 30 days. They started the work together but after 20 days P left the work. If the
remaining work is completed by @ in 50 more days, then P alone can complets the entire work in how many days?

Ans X 1. 150 days
« 2. 37.5 days
X 3. 100/3 days
X 4. 170 days

Question ID : 264330187997
Option 1 ID : 264330735918
Option 2 ID : 264330735916
Option 3 ID : 264330735917
Option 4 ID : 264330735919
Status : Not Answered

Chosen Option : --

Section : Part-D-English
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Choose the word that is opposite in meaning to the given word.

Anxious
X 1. Preoccupied

X 2. Distressed

Ans

Q.1 Choose the most appropriate antonym of the underlined word.
While he stood. in the clutch of his_ adversary, he still held his hand on his sword.
Ans X 1. Rival
& 2. Enemy
« 3. Helper
X 4. Foe
Question ID : 264330185849
Option 1 ID : 264330727716
Option 2 ID : 264330727717
Option 3 ID : 264330727718
Option 4 ID : 264330727719
Status : Not Answered
Chosen Option : --
Q.2

X 3. Inclined
¥ 4. Calm
Question ID : 264330186710
Option 1 1D : 264330730996
Option 2 ID : 264330730997
Option 3 ID : 264330730998
Option 4 ID : 264330730999
Status : Answered
Chosen Option : 2
Q.3  Find the part of the given sentence that has an error in it. If there is no error, choose “No error’.
The Vice-President and the Chief Secretary is visiting our office today.
Ans X 1. The Vice-President and
X 2. our office today.
X 3. No error
« 4. the Chief Secretary is visiting
Question ID : 264330185918
Option 11D : 264330727980
Option 2 ID : 264330727982
Option 3 ID : 264330727983
Option 4 ID : 264330727981
Status : Answered
Chosen Option : 2
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Q.4 Improve the underlined part of the sentence. Choose ‘Mo improvement’ as an anawer if the sentence i3 grammarically
carrect.

The tree were blowing over in the storm.

Ans 1. blew over

X 2. No improvement

X 3. blown over
X 4. was blow over

Question ID : 264330185606
Option 1 ID : 264330726792
Option 2 ID : 264330726795
Option 3 ID : 264330726794
Option 4 ID : 264330726793
Status : Answered
Chosen Option : 4

Q.5 Choose the idiom/phrase that can substitute the highlighted group of words meaningfully.

It’s such a small issue. People are unnecessarily making something unimportant into a big deal.

Ans X 1. Have second thoughts

X 2. Raining cats and dogs
X 3. Abull in a China shop

« 4. Nake a mountain out of a molehill

Question ID : 264330185830
Option 1 1D : 264330727647
Option 2 ID : 264330727646
Option 3 ID : 264330727645
Option 4 ID : 264330727644
Status : Answered
Chosen Option : 1

Q.6 Improve the underlined part of the sentence. Choose ‘No improvement” as an answer if the sentence is grammatieally
correct.

T have owning a scooter for a decade now.

Ans X 1. No improvement

X 2. has own a
& 3. have own an

« 4 have owned a

Question ID : 264330186259
Option 1 1D : 264330729283
Option 2 ID : 264330729281
Option 3 ID : 264330729280
Option 4 ID : 264330729282
Status : Answered
Chosen Option : 4
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Ans

Q7 Select the sentence with no spelling errors.

x 1

There are many cases in which, by diviating from the strictly ethic code, you do not harm anyone, you caly injure your

own soul.

x 2.

There are many cases in which, by deviating from the strictly ethic cods, vou do not harm anyone, you only injure your

own soule,

x 3.

There are many cases in which, by deviating from the strictly ethec code, you do not harm anyone, you only injure your

own soul.

o 4.

There are many cases in which, by deviating from the strictly ethic cods, vou do not harm anyone, you only injure your

own soul.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330186084
264330728612
264330728615
264330728613
264330728614
Answered

4

Ans

the 1diom/Phrase,

To stick one’s neck out

x 1. To resign

X 2. To enjoy

X 3. To bring things to notice
« 4 To take a risk

Q.8 Inthe following question, out of the given four alternatives, select the alternative which best expresses the meaning of

Chosen Option :

Question ID : 264330186123
Option 1 ID : 264330728763
Option 2 ID : 264330728760
Option 3 ID : 264330728762
Option 4 ID : 264330728761
Status : Answered
Chosen Option : 4
Q.9 Choose the most appropriate synonym of the underlinad word.
Several religious organizations are involved in the effort to facilitate the serflement of the immigrants arriving in the
area.
Ans X 1. Hinder

X 2. Retard

X 3. Demolish

« 4. Ease
Question ID : 264330186869
Option 11D : 264330731605
Option 2 ID : 264330731606
Option 3 ID : 264330731607
Option 4 ID : 264330731604

Status : Not Answered




www.prepp.in

Q.10

Fill in the blank with the most appropriate option.

She had not even a hope of being asked for if, because she was so successful in
OCCUr 1o anyone.

that the idea would never

Ans 1. society
X 2. civilization
X 3. heritage
X 4. culture
Question ID : 264330186513
Option 11D : 264330730251
Option 2 ID : 264330730250
Option 3 ID : 264330730249
Option 4 ID : 264330730248
Status : Answered
Chosen Option : 1
QM Select the most appropriate option for the given blank.
We can’t restrictions on such matters.
Ans X 1. advance
X 2. hold
« 3. impose
X 4. impel
Question ID : 264330186380
Option 1 1D : 264330729741
Option 2 ID : 264330729740
Option 3 ID : 264330729743
Option 4 ID : 264330729742
Status : Answered
Chosen Option : 2
Q.12 Find the part of the given sentence that has an error in it. If there is no error, choose “No error’.
A major concern is the decline in forest area in places that has good forest cover.
Ans X 1. No error
X 2. Amajor concern is the decline
« 3. that has good forest cover.
X 4. in forest area in places
Question ID : 264330185584
Option 11D : 264330726711
Option 2 ID : 264330726708
Option 3 ID : 264330726710
Option 4 ID : 264330726709
Status : Answered
Chosen Option : 3
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Q.13 Select the incorrectly spelt word from the given sentence.

Ans X 1. Some
+ 2. atitude
X 3. unmistakable
X 4. provincial

Some people regard a fear of new things as an unmistakable sign of a provincial atitude.

Chosen Option :

Question ID : 264330186252
Option 1 1D : 264330729252
Option 2 ID : 264330729255
Option 3 ID : 264330729253
Option 4 ID : 264330729254
Status : Answered
Chosen Option : 2
Q.14 Choose the most appropriate synonym of the underlined word.
State prosecutors allege that Salim took efforts to hide his actions from his legal staff.
Ans X' 1. Rare
+ 2. Conceal
X 3. Exposed
X 4. Apparent
Question ID : 264330185868
Option 1 ID : 264330727788
Option 2 ID : 264330727791
Option 3 ID : 264330727789
Option 4 ID : 264330727790
Status : Not Answered
Chosen Option : --
Q.15 Find the part of the given sentence that has an error in it. If there is no error, choose “No error’.
My cognitive process is far most distinct than her ideologies.
Ans 1. far most distinct
X 2. than her ideologies
X 3. My cognitive process is
X 4. No error
Question ID : 264330186319
Option 1 ID : 264330729509
Option 2 ID : 264330729510
Option 3 ID : 264330729508
Option 4 ID : 264330729511
Status : Not Answered
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Comprehension:

Read the passage carefully and select the correet answer for the given blanks owt of the four alternatives.

The smog towers were (1) by the Centre under the orders of the Supreme Court of India (2) January 13,
2020 and are being monitored by the Union Ministry of Envirenment, Forest and Climate Change, the DPCC said. They
(3) installed on an experimental basis and the results were not encouraging (4) the heavy expenditure.

If smog towers were to be used to reduce air pollution in Delhi by 17 per cent, at least 40.000 of them will be
(5) , the affidavit stated.

SubQuestion No : 16

Q16 Select the most appropriate option for blank(1)

Ans X 1. surmounted

& 2. moulded
X 3. fabricated
« 4. installed

Question ID : 264330186347
Option 1 ID : 264330729613
Option 2 ID : 264330729614
Option 3 ID : 264330729615
Option 4 ID : 264330729612
Status : Not Answered

Chosen Option : --

Comprehension:

Read the passage carefully and select the correct answer for the given blanks owt of the four alternatives.

The smog towers were (1) by the Centre under the orders of the Supreme Court of India (2) January 13,
2020 and are being monitored by the Union Ministry of Envirenment, Forest and Climate Change, the DPCC said. They
(3) installed on an experimental basis and the results were not encouraging (4) the heavy expenditure.

If smog towers were to be used to reduce air pollution in Delhi by 17 per cent, at least 40.000 of them will be
(5) , the affidavit stated.

SubQuestion No : 17

Q17 Select the most appropriate option for blank(2)
Ans X 1. at

2. 00

X 3. over

X4 in

Question ID : 264330186348
Option 1 1D : 264330729617
Option 2 ID : 264330729618
Option 3 ID : 264330729616
Option 4 ID : 264330729619

Status : Not Attempted and
" Marked For Review

Chosen Option : --
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Comprehension:

Read the passage carefully and select the correet answer for the given blanks owt of the four alternatives.

The smog towers were (1) by the Centre under the orders of the Supreme Court of India (2) January 13,

2020 and are being monitored by the Union Ministry of Envirenment, Forest and Climate Change, the DPCC said. They

(3) installed on an experimental basis and the results were not encouraging (4) the heavy expenditure.

If smog towers were to be used to reduce air pollution in Delhi by 17 per cent, at least 40.000 of them will be
(5) , the affidavit stated.
SubQuestion No : 18

Q18 Select the most appropriate option for blank(3)

Ans X 1. had
2. were
X 3. been
X 4. 15
Question ID : 264330186349
Option 11D : 264330729621
Option 2 ID : 264330729620
Option 3 ID : 264330729622
Option 4 ID : 264330729623
Status : Not Answered
Chosen Option : --
Comprehension:
Read the passage carefully and select the correet answer for the given blanks owt of the four alternatives.
The smog towers were (1) by the Centre under the orders of the Supreme Court of India (2) January 13,
2020 and are being monitored by the Union Ministry of Envirenment, Forest and Climate Change, the DPCC said. They
(3) installed on an experimental basis and the results were not encouraging (4) the heavy expenditure.
If smog towers were to be used to reduce air pollution in Delhi by 17 per cent, at least 40.000 of them will be
(5) , the affidavit stated.
SubQuestion No : 19
Q19 Select the most appropriate option for blank(4)
Ans X 1. implying
X 2. manipulating
« 3. considering
X 4. setting
Question ID : 264330186350
Option 1 1D : 264330729625
Option 2 ID : 264330729627
Option 3 ID : 264330729624
Option 4 ID : 264330729626
Status : Not Answered
Chosen Option : --
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Comprehension:

(5) , the affidavit stated.

SubQuestion No : 20

Ans X 1. coerced
« 2. required
X 3. negated

X 4. yexed

Read the passage carefully and select the correet answer for the given blanks owt of the four alternatives.

If smog towers were to be used to reduce air pollution in Delhi by 17 per cent, at least 40.000 of them will be

Q20 gSelect the most appropriate option for blank(5)

The smog towers were (1) by the Centre under the orders of the Supreme Court of India (2) January 13,
2020 and are being monitored by the Union Ministry of Envirenment, Forest and Climate Change, the DPCC said. They
(3) installed on an experimental basis and the results were not encouraging (4) the heavy expenditure.

Question ID :

Option 1 ID
Option 2 ID
Option 3 ID

Status

264330186351

1264330729631
1264330729628
1264330729630
Option 4 ID :

264330729629

: Not Answered
Chosen Option :

Section : Part-D-Hindi

FT TE RAEeT T
T gEd ¥ ST (39eT) & T
=iz

Ans X 1. 3TeTH
X 2. IR
X 3. 3o
v 4 3IeTT

Q1 =T 9 8, 91 Bwedt & 4, 37 BT & 900 # 3 Fives § 30 70 aeg ¥ RBaw 0w

Question ID :

Option 1 ID

Option 3 ID
Option 4 ID :
Status

Chosen Option :

264330189681

: 264330742385
Option 21D :

264330742383

1264330742384

264330742382

: Not Answered
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gl
feoam s

A X 1. fyeeaT g
v 2. fmrfer =TT
XK 3. =TT LgeT

><4.T1?$raﬂm

Q2 Tr=ffEe s &, 97 Bt § @, 30 BT = 99 F S & 7 gEEy F g w5 T e

Chosen Option :

Question ID : 264330188324
Option 1 ID : 264330737181
Option 2 ID : 264330737182
Option 3 ID : 264330737180
Option 4 ID : 264330737183
Status : Not Answered
Chosen Option : --
Q3 .
T 71T I F v aree eaeg A fifew
S O 3 @ER @ A &
Ans +
X1 HER
v 2 eiifees
X 3. 3-1@
X4 o
Question ID : 264330188235
Option 1 1D : 264330736840
Option 2 ID : 264330736841
Option 3 ID : 264330736842
Option 4 ID : 264330736843
Status : Not Answered
Chosen Option : --
Q4 fgfafEauy § o= e 8 3, 39 U Rihed &1 907 $¢ S 91909 F 7Y U Tse &1 3d faeer gl
S vgd w T g el
Ans x
- egepdt
X 2. fergET
v A
x4 Sffgdia
Question ID : 264330189886
Option 11D : 264330743162
Option 2 ID : 264330743163
Option 3 ID : 264330743164
Option 4 ID : 264330743165
Status : Not Answered
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L -
X2 Ufgrd
v o Sfuferd
K4 U

Q.5 fmfafEd vy d ar el § ¥, 39 ieey &1 ug- 3 o SIge | (G T8 Wee & A s &7 9! foea g
[
T o S foham a8 gre (21fam) 7|

Question ID

Option 11D :

Option 2 ID

Option 31D :

Option 4 ID

Status :
Chosen Option :

1264330189701
264330742461
1264330742458
264330742459
1264330742460
Not Answered

@8 few U AR T WEifehd W & o IRd Wi T 1 9ge S|

Chosen Option :

EEGEURGRCE]
Ans X1 djud
X2 gel
X3 Tjug
4 gl
Question ID : 264330189246
Option 1 ID : 264330740727
Option 2 ID : 264330740726
Option 3 ID : 264330740729
Option 4 ID : 264330740728
Status : Not Answered
Chosen Option : --
Q7 fag fasedl & ¥ dF fabed 3G 8 0eld Uh Wl 81 39 Uel fased &1 987 B
Ans =
v Y AN Hel ol 3 87
X 2. O AN &gl ofl 38 &7
X 3. Ug AN Hal ol 3 &2
X 4 qg W el ol e 82
Question ID : 264330189374
Option 1 ID : 264330741216
Option 2 ID : 264330741215
Option 3 ID : 264330741214
Option 4 ID : 264330741217
Status : Not Answered
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O Ruu e § ¥ Tad gaql 3d S

30§51 BT iRUSR ST Ug g
Ans o Gﬂaf

X 2. g

X 3. gal

v 4 fiREsR

Question ID

Option 2 ID

Option 4 ID

Option 11D :

Option 31D :

Status :
Chosen Option :

1264330189244
264330740721
1264330740720
264330740718
1264330740719
Not Answered

Q0 fau Ty are H IR yHTgaTEl W &1 9a Y Xad - @1 Ufd $

Al Bl (SRT&R) FHE! |
Ans X 1. ST
v 2 THAA
X3 Jodd
X 4. Teue
Question ID : 264330189175
Option 1 ID : 264330740457
Option 2 ID : 264330740454
Option 3 ID : 264330740456
Option 4 ID : 264330740455
Status : Not Answered
Chosen Option : --
Q.10 r=fafEm voa &, 9 et § @ 39 ey &7 999 5 = s & By 70 awg ¥ 959 & &+
T EEsT T
@ & # g3 (3e) @I agd T ¢
Ans -
X1 E?IG‘I'\
X 2. Teparfaer
75 TR
X 4 STETH
Question ID : 264330188370
Option 1 ID : 264330737358
Option 2 ID : 264330737359
Option 3 ID : 264330737357
Option 4 ID : 264330737356
Status : Not Answered
Chosen Option : --
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SR 35 ST TeTeRl 1 R

AN X g R Ry g

M Fgfafed uy ¥ IR fAecdl 8 ¥, 39 [9he0 &1 997 53 off <1 718 didbifad &1 Tt arf arer g

o 2.
fomdlt & HIg- s=1afl a1 3F-TFEl & - B! g BT

X 3. TUISH &I §gd ol el

x4 feradt I

Chosen Option :

Question ID : 264330189935
Option 1 ID : 264330743353
Option 2 ID : 264330743351
Option 3 ID : 264330743350
Option 4 ID : 264330743352
Status : Not Answered
Chosen Option : --
Q12 Praffm o= 8, 39 arFay F1 sgaee S At & gt st §) o P s w9
g R ¥ = gee fifsw
Waﬂﬁmﬂﬁa@ﬁnﬁc@ﬂjﬁwm%sﬁvmﬁﬁm‘mm%l
Ans :
X 1. gAY == AFCYF Fead &
X 2. TFAH AN SA9a H TG &
]
v 3 Fgeaqul sfFer emar € AR
x4 EIGE
2 T T E
Question ID : 264330188347
Option 1 ID : 264330737270
Option 2 ID : 264330737268
Option 3 ID : 264330737269
Option 4 ID : 264330737271
Status : Not Answered
Chosen Option : --
Q13 T=fafag v &, I Reedt & ¥, 39 Reey &7 997 F1 = FeF & 37 717 oeg & qargam=t
T FT WEr WeeT B |
T WG T F () ag T 2
v . @&l
X2 R
X3 PR
X 4. Fedl
Question ID : 264330188341
Option 1 ID : 264330737245
Option 2 ID : 264330737247
Option 3 ID : 264330737246
Option 4 ID : 264330737244
Status : Not Answered
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A1 fou Tu aTey H XEifed Weal & T Ol Wsg] arel [adhed &1 99 S

30 W 3RGER UGaR & |

X 1. 3 Y T AGER UgH & 1|
X 2. GRadH ®I A% ol ¢l
X 3. 3 J I 3GER Ugh| S|
v 4. 39 TR SRGER UG o |

Ans

Question ID : 264330189228
Option 11D : 264330740660
Option 2 ID : 264330740661
Option 3 ID : 264330740659
Option 4 ID : 264330740658
Status : Not Answered
Chosen Option : --
Q.15
fGU 71U a1 &1 98 HFT 31d &Y, ored 15 3 31
LS dg I Aied &l G 5@ UIEh Y Soh T AT |
M v gafagE
X 2. gl &1 FHH
X3 U RWBR
X 4 Gepx T T |
Question ID : 264330189100
Option 1 ID : 264330740170
Option 2 ID : 264330740171
Option 3 ID : 264330740172
Option 4 ID : 264330740173
Status : Not Answered

Chosen Option : --
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Comprehension:

Ay fe sy sy Fo o o R o §, geie seets F e 9w e R e #) gw e
A eEES T A 9N et & & watew seaw T RBeer g9

AL HIE # - FE TeodT @ B, TR W deaT  wI § 59 9ur & A S §, satee g e
TS F AT AR sER s g v smoer B S @et Sew B garn qu g we
T B S| T HNT FAS ARG B HLe & o0 T S H A T IET § o S
Stea ¥ IoWTEd @ FEEOAT & 9T WAS @ W@ ¥ 97 SNT §IHW AN S0 W UE _ Fe £
T A HEAE # g of smfeR w | ARt M Emoar F 9y @ wEeo sa s &
THIT T 16 T 9gd 87 Yol UF FFeuAT g W T AT g7 e Feo 9na Ffae & we
G FE H S Se A ag e gy @ o g g den, faeit f avE qft o @ O g g
&l v ey 2y #R mmey wEw Sty ¢ Sud Avile ey I 99 8T sueEw & wEEoa Bl

A 5w % FH F v g7 v & T AT geT AT Fro-wy FH S 5 e F O e
grami
SubQuestion No : 16
A1 =y 9T & - T T A &, g8 W S = B
Ans

X1.t|§|€|‘
X2 qurg
V3 faerE
X4 FEa

Option 2 ID

Option 4 ID

Question ID :
Option 11D :

264330189776
264330742745

1264330742742
Option 31D :

264330742743

1264330742744
Status :
Chosen Option :

Not Answered
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Comprehension:

Ay fe sy sy Fo o o R o §, geie seets F e 9w e R e #) gw e
A eEES T A 9N et & & watew seaw T RBeer g9

AL HIE # - FE TeodT @ B, TR W deaT  wI § 59 9ur & A S §, satee g e
TS F AT AR sER s g v smoer B S @et Sew B garn qu g we
T B S| T HNT FAS ARG B HLe & o0 T S H A T IET § o S
Stea ¥ IoWTEd @ FEEOAT & 9T WAS @ W@ ¥ 97 SNT §IHW AN S0 W UE _ Fe £
T A HEAE # g of smfeR w | ARt M Emoar F 9y @ wEeo sa s &
THIT T 16 T 9gd 87 Yol UF FFeuAT g W T AT g7 e Feo 9na Ffae & we
G FE H S Se A ag e gy @ o g g den, faeit f avE qft o @ O g g
&l v ey 2y #R mmey wEw Sty ¢ Sud Avile ey I 99 8T sueEw & wEEoa Bl

A 5w % FH F v g7 v & T AT geT AT Fro-wy FH S 5 e F O e
g
SubQuestion No : 17
Q7 = amg 3o sng & I F BT vF FE F FH ] @ L
Ans g1 TEES

Xz.q:@-

X5 il
X4 HEEES

Question ID :
Option 11D :
Option 2 ID :
Option 3 ID :
Option 4 ID :
Status :

Chosen Option :

264330189777
264330742746
264330742749
264330742747
264330742748
Not Answered
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Q.18

Ans

Comprehension:

# B e # O e o R § v et oW 9R e R e #) s e
= a9 Ht T Reedt § ¥ wleaw st T fwew

AL HIE # - FE TeodT @ B, TR W deaT  wI § 59 9ur & A S §, satee g e
TS F AT AR sER s g v smoer B S @et Sew B garn qu g we
G B S| S0 WA HAE AAG B e & O T S @A S IET 5 o s
Stea ¥ IoWTEd @ FEEOAT & 9T WAS @ W@ ¥ 97 SNT §IHW AN S0 W UE _ Fe £
TTT AT A # 0T off smefeR ae| et W Feoer F M @t Taew s Wi &
THIT T 16 T 9gd 87 Yol UF FFeuAT g W T AT g7 e Feo 9na Ffae & we
G FE H S Se A ag e gy @ o g g den, faeit f avE qft o @ O g g
&l v ey 2y #R mmey wEw Sty ¢ Sud Avile ey I 99 8T sueEw & wEEoa Bl
AT gw A% FAHF WU GH TR AW AT R AT WO-HY HW R 56 P OO ST
gl

SubQuestion No : 18

dg ARG HIPI CdRT o7 14T Ueh m%’l
X1 FHeadrd
v 2 TgAT
X 3. A
X4 s
Question ID :
Option 1 ID
Option 2 ID :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

264330189778

1264330742752

264330742753
264330742751
264330742750
Not Answered
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Comprehension:

Ay fe sy sy Fo o o R o §, geie seets F e 9w e R e #) gw e
A eEES T A 9N et & & watew seaw T RBeer g9

AL HIE # - FE TeodT @ B, TR W deaT  wI § 59 9ur & A S §, satee g e
TS F AT AR sER s g v smoer B S @et Sew B garn qu g we
T B S| T HNT FAS ARG B HLe & o0 T S H A T IET § o S
Stea ¥ IoWTEd @ FEEOAT & 9T WAS @ W@ ¥ 97 SNT §IHW AN S0 W UE _ Fe £
TS0 AT HEA F 1T off e A ARt M Eeoar F oy o ToeT s wPEm
THIT T 16 T 9gd 87 Yol UF FFeuAT g W T AT g7 e Feo 9na Ffae & we
G FE H S Se A ag e gy @ o g g den, faeit f avE qft o @ O g g
&l v ey 2y #R mmey wEw Sty ¢ Sud Avile ey I 99 8T sueEw & wEEoa Bl

A 5w % FH F v g7 v & T AT geT AT Fro-wy FH S 5 e F O e
)
SubQuestion No : 19
Q.19 ¢ w
AETT FT TEEEAT & 9 FATT|
Ans
X 1. q{s
X2 TH
X 3. ﬁqn‘
« 4. FATI%eh
Question ID :
Option 1 ID
Option 2 ID :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

264330189779

: 264330742757

264330742756
264330742755
264330742754
Not Answered
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Comprehension:

Ay fe sy sy Fo o o R o §, geie seets F e 9w e R e #) gw e
A eEES T A 9N et & & watew seaw T RBeer g9

AL HIE # - FE TeodT @ B, TR W deaT  wI § 59 9ur & A S §, satee g e
TS F AT AR sER s g v smoer B S @et Sew B garn qu g we
T B S| T HNT FAS ARG B HLe & o0 T S H A T IET § o S
Stea ¥ IoWTEd @ FEEOAT & 9T WAS @ W@ ¥ 97 SNT §IHW AN S0 W UE _ Fe £
T A HEAE # g of smfeR w | ARt M Emoar F 9y @ wEeo sa s &
THIT T 16 T 9gd 87 Yol UF FFeuAT g W T AT g7 e Feo 9na Ffae & we
G FE H S Se A ag e gy @ o g g den, faeit f avE qft o @ O g g
&l v ey 2y #R mmey wEw Sty ¢ Sud Avile ey I 99 8T sueEw & wEEoa Bl

A 5w % FH F v g7 v & T AT geT AT Fro-wy FH S 5 e F O e
ghami
SubQuestion No : 20
Q20 =7 a% = & BT g7 w@F I AT g S We-ETT SE W % S8 &N # O S
grem
A X e
X2 Fraet
X 3. TATRT
v e
Question ID
Option 11D :
Option 2 ID
Option 31D :
Option 4 ID :
Status :
Chosen Option :

1 264330189780

264330742758

1264330742760

264330742761
264330742759
Not Answered




	Blank Page



